Best Master Furniture

@

ASSEMI

BLY INSTRUCTIONS

L.X903
No. Part Qty| No. Hardware Qty
D Bolt M6*25mm | 16pcs
A % Chair body 1pc
E Bolt 1/4*32mm | 4pcs
F Spring Washer M6 16pcs
dpcs
G Flat Washer [M6*16mm | 16pcs
H Allen Key M6 1pc

www.bestmasterfurnitures.com




